Aim:  Why and how do nations create barriers to international trade?

Topic:  Barriers to international trade?

Document #1:  To trade or not to trade?   

In a closed economy all products are made within the country and supply and demand determines how much is produced and for what price, based on an exchange between consumers and producers.  However, in an open economy with free trade, there is a much greater amount supplied, known as “total supply”  (think of cars as an example – if you are a traitor and don’t want to buy American then you can comparison shop for dozens of cars from many different countries).   This greater amount of supply lowers the price because foreign firms want to lower their prices to compete in other countries, along with having looser tax codes and worker regulations which allow them to produce cheaper (think of buying something made in China vs. something made in America – the Chinese product is always cheaper).


For the consumer, this is great – more products at cheaper prices and possibly better quality.   For the American producer (and American worker) this is not.   Producers know that they are competing with other countries and that our consumers might be buying foreign products before domestic.  Therefore, American businesses are forced to produce less.   With American businesses producing less, they are also hiring less and/or unable to pay higher wages.   So while consumers love international trade, home-grown businesses and workers do not.  The American government would also prefer to export more than it imports to increase money coming into the country.   There are many strategic, geo-political implications of world trade, too that a nation must consider.     

1) What is the difference between a closed and open economy?

2) What is the difference between domestic supply and total supply? 

3)  Why is total supply always greater than domestic supply?

4)  Why does total supply lower the prices of products?

5)  Fill in the chart and consider consumers, workers, domestic businesses, foreign businesses and domestic government:  

	Benefits of Free Trade
	Harms of Free Trade

	
	


Document #2:   Graphical Representation of Free Trade 
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Graph Parameters:  

1)  Domestic Demand:   Represents the demand by the domestic economy for a commodity that is produced domestically and also imported.   

2)  The domestic supply curve indicates what the domestic suppliers are willing and able to produce at alternative prices.  If there was no international trade or a complete ban of imports, the equilibrium price would be (P,Q) (since it is an only domestic situation)

If there is free international trade, the Total Supply curve represents the production by domestic and foreign producers.  (The total supply curve is always to the right of the domestic supply curve because it represents the total supply of foreign AND domestic amount).   
Price and Quantity are used to measure the overall price of products and overall quantity of products and (quantity demanded and supplied).     

1)   What does Domestic Demand (D) illustrate?

2)  What does Domestic Supply (S) illustrate?

3)  What does Total Supply (TS) illustrate?

4)  Why is the total supply curve always to the right of the domestic supply curve?

5) Why are price and quantity the two axis?
Document #3:   Graphical Representation of problems of free trade
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In a perfectly closed economy, domestic consumers would pay P and producers would produce Q.  However, with total supply, domestic consumers would pay P1 and consume Q1:  they are able to consume more of the commodity at a lower price!   
How does this graph visualize the harms of international trade?


Look at P1.   At the price of P1, domestic firms are producing at Q2 and foreign producers are producing (Q1-Q2).  Thus, domestic firms are producing less under free trade than they would if the nation did not import the commodity.  This graph illustrates how free trade hurts domestic industries.   

1) Graphically, what is the price and quantity without total supply?

2) Graphically, what is the price and quantity with total supply?

3) With total supply, why are domestic businesses producing at Q2?   Why is this a problem?

4) With total supply, why are foreign businesses producing at Q1-Q2?    

Document #4:   How does a government limit trade?

1)  Quotas:   Limit number of imports


2)  Tariffs:   Tax on imports.   The tariff increase the cost of each unit, which is represented by a decrease in supply.  This would result in an increase in equilibrium price and a decrease in equilibrium quantity.   The tax goes to the government.  

3)  Subsidies:  Assistance to domestic industries.   Nations may choose to assist domestic industries by providing subsidies to an industry.  The subsidies would lower the costs and permit the industry to sell at a lower price.  This assistance is called an export subsidy because the industry can now compete on the world market and export some of its product to other nations.   
1)  What are the advantages of a quota?  disadvantages?

2) What are the advantages on tariffs?  Disadvantages?

5)  What are the advantages of subsidies?   Disadvantages?

6)  Which do you think American consumers would prefer?

7)  Which do you think American businesses would prefer?

8)  Which do you think American worker would prefer?

Example #1:  Quotas and their effects
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Price and quantity with quota = (p2,q2)

if the blue line was higher, there would be no domestic production without the quota!

1) Graphically, what is the price and quantity without total supply?

2) Graphically, what is the price and quantity with total supply?

3) Graphically, what is the price and quantity with an import quota?  Why?

4) Which “p” and “q” are domestic businesses producing at with total supply before the quota?

5) Which “p” and “q” are domestic businesses producing at after the quota?

6) Why is the amount of the quota q2-q1?

7) Based on the graph, how do quotas help domestic businesses?

8) Do you agree or disagree with the use of quotas?

Example #2:  Tariffs and their effects
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The tariff is PT, QT

The imposition of a tariff causes the total supply to decrease because the tariff has caused the price to increase at every level of output.  

The tariff is the vertical distance between the Total Supply and the Total Supply with Tariff.  
Would domestic consumers prefer a tariff or a quota?


- domestic consumers would prefer a tariff because the domestic government receives the revenue as opposed to the producers (both foreign and domestic).  Consumers might expect that the overall level of taxes would then decrease.  The tariff tax revenue would substitute for other tax revenue.  
1) Graphically, what is the price and quantity without total supply?

2) Graphically, what is the price and quantity with total supply?

3) Graphically, what is the price and quantity with an import/excise tax(tariff)?  Why?

4) Which “p” and “q” are domestic businesses producing at with total supply before the tariff?

5) Which “p” and “q” are domestic businesses producing at after the tariff?

6) Why is the amount of the tariff P2-PT?
7) Based on the graph, how do tariffs help domestic businesses?

8) Why would consumers prefer a tariff instead of a quota?
Example #3:  Subsidies and their effects
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How the Subsidy affects the domestic and international economies:  

Subsidies lower prices and the quantity of goods is greater for both domestic supply and total supply.  
1) Graphically, what is the price and quantity without total supply?

2) Graphically, what is the price and quantity with total supply?

3) Graphically, what is the domestic price and quantity with total supply before subsidy?
4) Graphically, what is the total supply price and quantity with the subsidy?  Why?

5) Graphically what is the domestic supply price and domestic quantity with just the domestic subsidy (not counting total supply)?

6) Graphically what is the domestic price and quantity with total supply and subsidy?

7) Why would the domestic subsidy be Q4 – Q?

8) Based on this graph are subsidies good or bad?  
